w

W79 =HIT—4 / Technical Datall

#H{TRILY / Recommended torque

A TUTAILIM3x10 / Hexagonal M3-10 : 0.2N+m

& T [h1EF~M2.5x7 / Captive pan head M2.5-7 : 0.15N*m ~ 02N m

IMM3x8 / Flat head M3-8 : 0.3N-m ~ 0.6N-m

B4 (BEXRREODO) / Color Type (End of product numberd )

#MMAZA / Components

No. 4 %5 / Part name & / Pes #E / Material - REWIE / Color-Finish
) a—+—Javy . TIVEF %X Rk ADC12 DIV —- B (RERRALIE)
Corner block Diecast aluminium ADC12 Silver+Painted (Unfinished inside)
) Rtk ) 7 ILS IR A6063S-T5 DL —- B (RERRALIE)
Frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
3 TL—L 4 T IV A6063S-T5 DIN— B (NERRALIE)
Panel support frame Extruded aluminium A6063S-T5 Silver+Painted (Unfinished inside)
4 IR ) 7 JLE4R A1100P DbN— % (EEEENE)
Panel Aluminium A1100P Silver+Painted (Conductive inside)
5 Hi— | 7 ILEHR A1100P DIVN— B (REHENE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 THhii— 1 7 ILEHR A1100P N —F R (EEEENE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
; a—F—H—F 8 TPE (T5R) 7399, JL—, RME— Lk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
s EMCY—ILRA R4y 1 HEMMAM (ULIV-0) AT L—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 HAHE R (M3 x 8) 1 E ZwbLAvE
Screw (Flat head M3 - 8) Steel Nickel plated
10 BAFTER GRARMAARILEM3 x 10) 8 % =i Ul=Pa
Screw (Hexagonal M3-10) Steel Black trivalent chromate
" BFER CETFRLEFAM25x 7) s % VT Ay
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

i%5 / Code | 7JLE4—X / Aluminium enclosure 3—7F—7#—K / Corner guard
S B L JLsN— / Silver 75v% / Black
S G 2 JLs\— / Silver 4J'L— / Gray
SN < JLiN— / Silver FAE— / Navy
S R < JL1N— / Silver Lk / Red

AREESUHET SBRHOEMHEIHARUINTFERIRIRELES .

C) TAKACHI ELECTRONICS ENCLOSURE LTD. AY ts Reserved.

A /Title
TAKACHI| #X&HanFERTE A —H—FHEMCS— LR —X o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD
KR/ Approved 12X /Checked X /Created FF /Product number RIE/Scale
AUGE88-20-36-[1[1
F'P*E X ~R—/Page
{ERL B /Date 2022/12/28 1717




D view

88+0.3
(4r—R 45\ 2 / External)

B-B(1:5)
153

E view

A view

F view

360+ 0.5 (r— A4} iz / External)

100

R24

200+ 0.5 (7 —R 4} 2 / External)

A-A(1:5)
346
C view
368
~
=

R52

66

25

C-G(1:5)

B view

193

81

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RHFRHEMCY—I)LRF—R
EMC SHIELDED ENCLOSURE with CORNER GUARD

o]

#5/Approved

iR

#&[X/Checked

T

X /Created

A

FIF /Product number

AUGE88-20-36-11

RE/Scale
1:5

2022/09/20

~R—/Page

2 /17




C fAl#x / C Frame

310

87

XM / Front side

D {8l#% / D Frame

M / Front side

80.7

= I 5
< o
5 2-M3FHSR 5
2-M3 Countersunk
225 ¥ R¥EBREHR / Same on the other side.
™
@
™
| -
@
-
™
251 / Back side
les L
[ \>4]
221 / Back side
Mm%/ Title
TAKACHI) #XaitahFElTE B O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved 18X/ Checked X /Created FIF /Product number RE/Scale
H88 - D360 128
iR ES e N—/Page
{ERE /Date 2022/07/20 3/ 17




16

225

126

6.5

A4

150

2-M2.5

2-M3AH IR

2-M3 Countersunk

5 5

14

£t47K / Total 4 pieces

55 105

3.3

BASHIhFERITE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
TL—L

Panel support frame

o]

7R/ Approved

iR

%[/ Checked R/ Created

ES A

FIF /Product number

W200

RE/Scale
1:1

{ERL B /Date 2022/08/08

~R—/Page

4 /1




A /N2RJL / A Panel

149.5 3.5 2 126
@
=]
® ® ] X 1 e ¢
<
[fe}
£
©
= REES—MaI
_;1 Surface protective film side
) e j i s o
L & LOHl = & L1J
T
B3t / Max dim. 142+ 0.5
4-M25FARILRY)—T
4-Metal sleeve for M2.5
XM / Front side %M / Back side
B /3L / B Panel
G 72y | I: @ oY
[¢] [¢] [ [
RE—HMa
Surface protective film side
(o] (o] [ [ o
L &7 L2 L4 S0
K / Front side 221 / Back side
R4/ Title
TAKACH) #=t&#5hF BHTH R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
H88 ~ W200 12
EP*E X 5]”*‘1‘ ~N—/Page
YERLH /Date 2022/08/08 57/ 17




189.4

4-R14.7 170 4-@45 2

BT / Max dim. 313+ 0.5

<
. o
g 8
FREE—Mal
Surface protective film side
Atk / Max dim. 153+ 0.5
R / Front side 2@ / Back side

S/ Title
BREUINTFEMTE $1— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Scale
W200 - D360 _ 125
iR E 520 R=S/Page
YERL B /Date 2022/07/20 6 / 7




189.4

4-R14.7 170 4-@45 2

BT / Max dim. 313+ 0.5

<
. o
g 8
FREE—Mal
Surface protective film side
Atk / Max dim. 153+ 0.5
R / Front side 2@ / Back side

S/ Title
BREUINTFEMTE THA— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Scale
W200 - D360 _ 125
R x A N /Page
YERL B /Date 2022/07/20 7717






